Regular/ Honors Vector Test Review NAME: Ké \/
Objectives: P3.2C,d P3.4A ’
1. A boat moves east across a lake for 400m, turns northward for 200m, and finally
moves due west for 100m. What is the final distance and direction of the boat from its

ariginal gtarting nagitinn?
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2. A 150kg light hangs between two wires that make a 178 angle with each other. What
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3. If a 100kg monkey hangs between two cables and the tension of each cable is 1989n,

what is the angle between the two cables? U Fu 100X g9 @
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4. A force acts on a mass with 900n 202 E of N. A second force acts on the mass with @ Py,

1500n 37° N of E. What is the resultant force and direction?
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